EARAZROREIERT — 2 N—XBISY —F 20175128168 (£) 9mIKR4H

m HEE ¥5%—MKOP B R
[x&<£] 1 % :1,500,000 @ ~ 23 :300,000  ~ 337#&:150,000 @ 4 7 :105,000 @ . 5 7& :45,000 M
mEBR Mk HE BF (&) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
N SN KIFiE : —~6-6- - ERA (BXE)
A—FIHES o9 = 1.(45)).8 6-6-6-4 | 38.3 6 (5_323; LEF
LA=JNh7 BavTrhvr A
. s 6 | HLE 1:40.8 2-2-2-1 [38.9| — 4 507 | ERE (KR)
Ty kAo 57.0 (7E) (7) | KARFIR
R:707% B:an/NCHLT EEE)415
N S . 4 — 1EBERE (OKIR)
21484 T 7> M 09 A (17;45?3) 5-5-4-3 | 38.6 1 :;6) g
R:T7LEATAvITA N Bia A% v L—F N H LIS
S S ROB— . —4-3—! _ = §
A ayAteT> 60 1'(441)'5 AR E ° (5:320) Qlaﬂlgﬁ 7
RTITRATIRIV B3NN Bl e ]
. s 07 | WIABEE 1:41.7 1-1-1-1 [ 39.9| -— 2 514 | AR (8RHE)
17~ _ 57.0 M s |BHEX
LT RIAY L= B:JY—-2ELTY Y [=:R1%5 ¢ ]
o LLIZEE 3 142, ~7-5~ . - 2ILE— (KiR)
Frl)-EvH— "4 1(442)3 e %9 ’ (42;) FAF—ER
L:hT7xAVRKR BNTHEARETIV =RBANE
T . 4 8 | HEEME— 1:42.9 7-8-7-7 | 40.4| — 8 518 | 2 ARER (KR)
71717 T hZFEY 57.0 (4) (+9) L
L:2=/xLLy b BiHF—Iqa-> (B) #A3—-RKL—va>aE77r
. B4 | BIERZER 1:42.9 3-3-8-8 |40.5| — 7 488 | fEAARERI (KiR)
8l1l1|7VYvHL 55.0 (NF) (o) | RABE— /
R:TFZRAIE— B AR v IVT 1 F— BREM#FB L2 L/ 77— L
® I —F—@EBIERL
13=zr= 6,8,1,5,3,2,7,4
2o=7r= 6,8,1,5,3,2,4,7
BEE 6,8,5,3,4,2,7,1
43—+ — (6,8),3,2,5,4,7,1
[ RN
B OB 2 2,150 714K 2-8 1,060M B = 2-8 4,380 &R 2-3-8 1,820M
8 B 2 340 2-3 300M B H 2-8 11,090 K31 2-8-3 35,780
8 270M 3-8 250
8 130H4

ABICOVWTRDTEEERROODE. TR LIV,



